 SEQ CHAPTER \h \r 1QUESTIONS ON LINEAR MOTION
1. An aeroplane travels 2100 km at a speed of 1000 kmh-1. It then encounters a headwind that slows it to 800 kmh-1 for the next 1300 km. What was the average speed of the plane for this trip?

(913 km)

2. A car travelling at 60 kmh-1 strikes a tree; the front end of the car compresses and the driver comes to rest after travelling 0.70m. What was the average deceleration of the driver during the collision? Express your answer in terms of ‘g’s.

(20 gs)

3. A race car driver must average 200 kmh-1 for four laps to qualify for a race. Because of engine trouble, the car averages only 170 kmh-1 over the first two laps. What average speed must be maintained for the last two laps?

(243 kmh-1 )

4.A person driving her car at 31.1mph approaches a junction just as the traffic lights turn to amber. She knows that the amber light only lasts for two seconds before turning red, and she is 30m away from the near side of the junction. Should she try to stop, or should she make a run for it? The junction is 12 m wide and the car’s maximum deceleration is -6.0ms-2. Also, her car takes 7.0 seconds to accelerate from 31.07mph to 43.50mph. Ignore the length of the car and her reaction time.

(she should stop)

5. A runner hopes to complete a 5000m race in less than 13.0 mins. After exactly 11.0min there is still 800m to go. The runner must then accelerate at 0.2 ms-2 for how many seconds in order to achieve the desired time?

(1.545s)
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